Bid Tabulation For:

Construction of Waterline Rehabilitation Along Oak Manor Drive, Brier Oak Drive, & Surrey Oak Court

To Serve Oak Manor Municipal Utility District

Bid Opening Date:

April 28, 2021

Bid Opening Location:

LJA Engineering, Inc.

11821 East Freeway, Suite 360

Houston, Texas 77029

Tabulation By:

Tammy Endres

Tabulation Date:

April 28, 2021

LJA Project No.

E200-0180

Bidder's Name:

Total Base Bid and Supplementary Bid Items:

1) Scohil Construction Services, LLC

\$209,042.90

2) Aranda Industries, LLC

\$209,666.49

3) D.L. Elliott Enterprises, Inc.

\$231,907.49

4) DL Glover, Inc.

* \$233,980.00

Calendar Days - 90

4/30/2/

IICHAEL J. HELFRICH.

I, Michael Helfrich, P.E., hereby certify these bid tabulations to be true and correct.

*Mathematical Error

Bid Tabulation - Bid Opening, April 28, 2021				Scohil Construction Services LLC		Aranda Industries, LLC		D.L. Elliott Enterprises, Inc.		DL Glover, Inc.		
Oak Manor Municipal Utility District				18534 Mueschk	e Road	4206 Northwind Lane		16535 Hollister St., Suite A		P.O. Box 1852		
	Waterline Rehabilitation Along Oak Manor Drive, Brier Oak Drive & Surrey Oak Court				Cypress, TX 77433		Houston, TX 77014		Houston, TX 77066		Humble, TX 77073	
1 -	roject No. E200-0180	281-955-8375		281-501-0127		281-895-0924		281-354-6081				
	FRN F-1386				George Scoular		Luis Aranda		Darryl Elliott		Danny Glover	
				lucy@scohil.con	<u>n</u>	laranda@aranda	aindustries.com	estimating@dlellig	ott.com	danny@dlglover.com		
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	
	BASE BID ITEMS											
	8-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place	895	LF	\$65.00	\$58,175.00	\$51.00	\$45,645.00	\$77.00	\$68,915.00	\$60.00	\$53,700.00	
	8-Inch Waterline, Augered Construction (PVC, AWWA C-900, DR-18), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) as Shown on Plans All Depths, Complete in Place	175	LF	\$65.00	\$11,375.00	\$78.00	\$13,650.00	\$77.00	\$13,475.00	\$65.00	\$11,375.00	
	6-Inch Waterline (PVC, AWWA C-900, DR-18) with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place.	554	LF	\$63.00	\$34,902.00	\$49.00	\$27,146.00	\$74.00	\$40,996.00	\$50.00	\$27,700.00	
4	6-Inch Waterline, Augered Construction (PVC, AWWA C-900, DR-18), Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) as Shown on Plans All Depths, Complete in Place.	341	LF	\$63.00	\$21,483.00	\$59.00	\$20,119.00	\$74.00	\$25,234.00	\$55.00	\$18,755.00	
	2-Inch Waterline (PVC, SCH 40) with PVC Fittings, Open Cut, All Depths, Complete in Place	0	LF	\$45.00	\$0.00	\$27.00	\$0.00	\$0.00	\$0.00	\$25.00	\$0.00	
6	8-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place.	4	EA	\$1,850.00	\$7,400.00	\$1,905.00	\$7,620.00	\$2,500.00	\$10,000.00	\$2,000.00	\$8,000.00	
	6-Inch Gate Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place.	1	EA	\$1,350.00	\$1,350.00	\$1,421.00	\$1,421.00		\$2,000.00		\$1,750.00	
8	2-Inch Blow-Off Valve Assembly, Accessories, Complete in Place.	1	EA	\$1,250.00	\$1,250.00	\$900.00	\$900.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,250.00	

Bid Ta	bulation - Bid Opening, April 28, 2021	Scohil Construction Services LLC		Aranda Industries, LLC		D.L. Elliott Enterprises, Inc.		DL Glover, Inc.			
	Oak Manor Municipal Utility District				e Road	4206 Northwind	Lane	16535 Hollister St., Suite A		P.O. Box 1852	
	line Rehabilitation Along Oak Manor Drive, Brier O / Oak Court	ak Drive	. &	Cypress, TX 774	133	Houston, TX 77014		Houston, TX 77066		Humble, TX 77073	
LJA P	roject No. E200-0180	281-955-8375		281-501-0127		281-895-0924		281-354-6081			
FRN F	-1386	George Scoular Luis Aranda				Darryl Elliott		Danny Glover			
					<u>n</u>	laranda@arandaindustries.com		estimating@dlelliott.com		danny@dlglover.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
9	Fire Hydrant Assembly, With Restrained Joints, 4-Foot Bury, Concrete Collar, Complete in Place.	6	EA	\$4,250.00	\$25,500.00	\$5,287.00	\$31,722.00	\$3,500.00	\$21,000.00	\$7,500.00	\$45,000.00
10	Extra Depth Bury for Fire Hydrant, Complete in Place.	5	VF	\$200.00	\$1,000.00	\$579.00	\$2,895.00	\$100.00	\$500.00	\$500.00	\$2,500.00
11	Remove and Salvage Existing Fire Hydrant (Open cut & Backfill), Complete in Place.	1	EA	\$350.00	\$350.00	\$585.00	\$585.00	\$500.00	\$500.00	\$1,050.00	\$1,050.00
12	Close Existing Valve, Remove Box, Plug Valve Operator (Open cut & Backfill), Complete in Place.	1	EA	\$650.00	\$650.00	\$325.00	\$325.00	\$100.00	\$100.00	\$105.00	\$105.00
13	6-Inch Wet Connection, Including Valve Closures for Line Isolation and Cut & Plug Of Existing Line or Removal as Necessary, Complete in Place.	1	EA	\$1,950.00	\$1,950.00	\$1,378.00	\$1,378.00	\$4,000.00	\$4,000.00	\$1,750.00	\$1,750.00
14	2-Inch Wet Connection, Including Valve Closures for Line Isolation and Cut & Plug Of Existing Line or Removal as Necessary, Complete in Place.	0	EA	\$750.00	\$0.00	\$1,235.00	\$0.00	\$0.00	\$0.00	\$1,650.00	\$0.00
15	Trench Safety System, Complete in Place.	1,449	LF	\$0.10	\$144.90	\$0.01	\$14.49	\$0.01	\$14.49	\$1.00	\$1,449.00
16	Construct New Polyethylene Tubing Service Connection (3/4-Inch to 1-Inch), Short Side, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	22	EA	\$545.00	\$11,990.00	\$788.00	\$17,336.00	\$600.00	\$13,200.00	\$650.00	\$14,300.00
17	Construct New Polyethylene Tubing Service Connection (3/4-Inch to 1-Inch), Long Side, Auger Beneath Road, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	15	EA	\$675.00	\$10,125.00	\$1,270.00	\$19,050.00	\$700.00	\$10,500.00	\$750.00	\$11,250.00
18	Construct New Polyethylene Tubing Service Connection (2-Inch), Short Side, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	0	EA	\$890.00	\$0.00	\$1,859.00	\$0.00	\$0.00	\$0.00	\$1,250.00	\$0.00
19	Construct New Polyethylene Tubing Service Connection (2-Inch), Long Side, Auger beneath Road, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	0	EA	\$1,500.00	\$0.00	\$2,448.00	\$0.00	\$0.00	\$0.00	\$1,450.00	\$0.00

Bid Tabulation - Bid Opening, April 28, 2021				Scohil Construct	tion Services LLC	Aranda Industrie	Aranda Industries, LLC D.L. Elliott Enterprises, Inc.			DL Glover, Inc.		
Oak Manor Municipal Utility District				18534 Mueschk	e Road	4206 Northwind	Lane	16535 Hollister St	., Suite A	P.O. Box 1852		
	Waterline Rehabilitation Along Oak Manor Drive, Brier Oak Drive & Surrey Oak Court				133	Houston, TX 77014		Houston, TX 77066		Humble, TX 77073		
LJA P	LJA Project No. E200-0180					281-501-0127		281-895-0924		281-354-6081		
FRN F	FRN F-1386				George Scoular		Luis Aranda		Darryl Elliott		Danny Glover	
					lucy@scohil.com laranda@arandaindustries.com e			estimating@dlelliott.com		danny@dlglover.com		
ITEM	ITEM EST.				TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	
20	Turf Establishment, Hydro-mulch Seeding, Complete in Place.	0.2	AC	\$9,000.00	\$1,800.00	\$12,500.00	\$2,500.00	\$7,500.00	\$1,500.00	\$6,300.00	\$1,260.00	
21	Surface Restoration, Asphalt Surface, Complete in Place.	25	SY	\$54.00	\$1,350.00	\$70.00	\$1,750.00	\$75.00	\$1,875.00	\$120.00	\$3,000.00	
22	Surface Restoration, Concrete Surface, Complete in Place.	0	SY	\$92.00	\$0.00	\$85.00	\$0.00	\$0.00	\$0.00	\$84.00	\$0.00	
23	Surface Restoration, Unpaved Surface (Gravel or Shell), Complete in Place.	0	SY	\$54.00	\$0.00	\$35.00	\$0.00	\$0.00	\$0.00	\$30.00	\$0.00	
24	Traffic Control, as Necessary, Includes Acquiring Permits, Installation, Maintenance, & Removal of All Traffic Control Devices Required by Permit and as Shown on Project Plans, Complete in Place.	1	LS	\$350.00	\$350.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	
25	SWPPP, Reinforced Filter Fabric Barrier, Installed, Maintained, And Removed, Complete in Place.	50	LF	\$1.00	\$50.00	\$1.00	\$50.00	\$2.00	\$100.00	\$5.00	\$250.00	
	SUB-TOTAL BASE BID ITEMS - ITEMS 1 - 25		•	\$191,194.90			\$196,106.49		\$218,659.49		\$210,444.00	
	SUPPLEMENTARY ITEMS		2) (21222	4	422.00	****	212.22	****	444.55	2112.22	
26	"Extra" Bank Sand, As Directed by Owner's Representative, Complete in Place.	10	CY	\$10.00	\$100.00	\$20.00	\$200.00	\$10.00	\$100.00	\$11.00	\$110.00	
27	"Extra" Crushed Limestone Bedding, As Directed by Owner's Representative, Complete in Place.	5	CY	\$25.00	\$125.00	\$35.00	\$175.00	\$25.00	\$125.00	\$27.00	\$135.00	
28	"Extra" Cement Stabilized Sand, 2.0 Sacks per Ton, As Directed by Owner's Representative, Complete in Place.	1	TON	\$30.00	\$30.00	\$30.00	\$30.00	\$30.00	\$30.00	\$25.00	\$25.00	
29	"Extra" Class A Concrete, As Directed by Owner's Representative, Complete in Place.	5	CY	\$100.00	\$500.00	\$100.00	\$500.00	\$100.00	\$500.00	\$84.00	\$420.00	
30	"Extra" Reinforcing Steel, As Directed by Owner's Representative, Complete in Place.	250	LB	\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00	
31	"Extra" Turf Establishment, Full Sodding, As Directed by Owner's Representative, Complete in Place.	81	SY	\$3.00	\$243.00	\$5.00	\$405.00	\$3.00	\$243.00	\$16.00	\$1,296.00	

Bid Tabulation - Bid Opening, April 28, 2021				Scohil Construction Services LLC		Aranda Industries, LLC		D.L. Elliott Enterprises, Inc.		DL Glover, Inc.	
Oak Manor Municipal Utility District				18534 Mueschk	e Road	4206 Northwind Lane		16535 Hollister St., Suite A		P.O. Box 1852	
Waterl	Waterline Rehabilitation Along Oak Manor Drive, Brier Oak Drive & Surrey Oak Court				Cypress, TX 77433		Houston, TX 77014		66	Humble, TX 77073	
1	LJA Project No. E200-0180					281-501-0127		281-895-0924		281-354-6081	
FRN F	-			George Scoular		Luis Aranda		Darryl Elliott		Danny Glover	
				lucy@scohil.cor	<u>n</u>	laranda@aranda	aranda@arandaindustries.com		estimating@dlelliott.com		<u>com</u>
ITEM	ITEM EST.				TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
32	8" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place.	1	EA	\$7,600.00	\$7,600.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$10,200.00	\$10,200.00
33	6" Insertion Valve (AWWA) with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, As Directed by Owner's Representative, Complete in Place.	1	EA	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$9,500.00	\$9,500.00
34	Construct New Polyethylene Tubing Service Connection (3/4-Inch to 1-Inch), Short Side, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$650.00	\$650.00
35	Construct New Polyethylene Tubing Service Connection (3/4-Inch to 1-Inch), Long Side, Including Auger Beneath Road, Including Tap, Pipe, Valves, and Connection to Meter, Complete in Place.	1	EA	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$950.00	\$950.00
	SUB-TOTAL SUPPLEMENTARY ITEMS - ITEMS 26	6 - 35	ı		\$17,848.00		\$13,560.00		\$13,248.00		\$23,536.00
	ALTERNATE "A"										
36	6-Inch Waterline (PVC, AWWA C-900, DR-18) in lieu of 8-Inch Waterline, with Ductile Iron Fittings, Open Cut, Joint Restraints (as necessary), Including Sections Ductile Iron (AWWA C-151, Class 350) (as necessary) and Offsets as Shown on Plans, All Depths, Complete in Place.	895	LF	\$63.00		\$51.00	\$45,645.00	\$74.00	\$66,230.00	\$50.00	\$44,750.00
37	6-Inch Waterline, Augered Construction (PVC, AWWA C-900, DR-18) in lieu of 8-Inch Waterline, Including Sections of Ductile Iron (AWWA C-151, Class 350) (as necessary) as Shown on Plans All Depths, Complete in Place.	175	LF	\$63.00	\$11,025.00	\$59.00	\$10,325.00	\$74.00	\$12,950.00	\$55.00	\$9,625.00

Bid Tabulation - Bid Opening, April 28, 2021					Scohil Construction Services LLC		Aranda Industries, LLC		D.L. Elliott Enterprises, Inc.		
Waterline Rehabilitation Along Oak Manor Drive Brier Oak Drive &				18534 Mueschke Road 4		4206 Northwind Lane		16535 Hollister St., Suite A		P.O. Box 1852	
				Cypress, TX 77433		Houston, TX 77014		Houston, TX 77066		Humble, TX 77073	
				281-955-8375		281-501-0127		281-895-0924		281-354-6081	
				George Scoular		Luis Aranda	Luis Aranda			Danny Glover	
				lucy@scohil.cor	<u>n</u>	laranda@arand	aindustries.com	estimating@dlelli	ott.com	danny@dlglover.com	
ITEM		EST.		UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE	UNIT	TOTAL PRICE
NO.	DESCRIPTION	QTY.	UNITS	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM	PRICE	PER ITEM
38	6-Inch Gate Valve (AWWA) in lieu of 8-Inch Gate Valve, with Adjustable Box, Joint Restraint (as necessary), Accessories, Concrete Collar, Complete in Place.	4	EA	\$1,350.00	\$5,400.00	\$1,398.00	\$5,592.00	\$2,000.00	\$8,000.00	\$1,150.00	\$4,600.00
	SUB-TOTAL ALTERNATE ITEM "A" - ITEMS 36 - 3		\$72,810.00		\$61,562.00		\$87,180.00		\$58,975.00		
	SUMMARY OF BID	!		!		•		!			
		ITEMO A	4 05		0404 404 00		# 400 400 40		***		0040 444 00
	BASE BID ITEMS	ITEMS '	1 - 25		\$191,194.90	-	\$196,106.49	-	\$218,659.49	-	\$210,444.00
	SUPPLEMENTARY BID ITEMS	ITEMS 2	26 - 35		\$17,848.00	-	\$13,560.00	-	\$13,248.00	-	\$23,536.00
	ALTERNATE "A"	ITEMS 3	36 - 38		\$72,810.00	-	\$61,562.00	-	\$87,180.00	-	\$58,975.00
	TOTAL BASE BID AND SUPPLEMENTARY BID ITEMS	ITEMS '	1 - 35		\$209,042.90	-	\$209,666.49	-	\$231,907.49	-	\$233,980.00
	TOTAL AMOUNT BASE BID, SUPPLEMENTARY ITEMS, AND ALTERNATE "A" BID ITEMS		3 - 38 ing bid i	tem 6)	\$204,902.90	-	\$204,313.49		\$226,697.49	-	\$219,880.00